2016 5~ E3 8 F £ o
F 5L 7 P few| g %1 | =52 | #=%3 | F% 4| +=%5 EX T 35 #ic 7, %
CO1 R 3B B 4-6 & & ¥ gz 82 85 86 85 82 420.0 84.0 2
C02 A 3B B 4-6 & & iFE R 85 90 90 87 84 436.0 87.2 1




2016 &y ~ & § # %%g 3B =~ & £

B 5 g B B %] E A k| FE 2| FE S k- Pk ) A SR =P \ S AN
C03 £ 3B /] 4-6 & & £ 1tk 91.5 89 90 86 86 442.5 88.5

C04 £ 3B /) 4-6 & & 3 4% 87 90 89 91 92 449. 0 89. 8 3
C05 £y 3B B 4-6 & e M S 81.5 85 85 85.5 81 418.0 83. 6

C06 £y 3B '] 4-6 & e 43 83 80 80 83 80 406. 0 81. 2

CO7 £y 3B '] 4-6 & e R 89.5 90 89 91 89.5 449. 0 89. 8 3
C08 £y 3B B/ 4-6 & 5w B 5 82 80 80 82 81.5 405. 5 81.1

C09 £y 3B B/ 4-6 & 5w R 81 80 80 80.5 80 401.5 80. 3

C10 £y 3B B/ 4-6 & 5w BB 80.5 80 80 78 80 398.5 79.7

Cl1 £y 3B /'] 4-6 & & = 1 3y 91 95 92 91 93 462. 0 92. 4 1
C12 £y 3B B/ 4-6 & 5w KRR 81.3 82 80 76 80 399. 3 79.9

C13 £y 3B B/ 4-6 & 5w 32 90. 5 90 87 90 84 441.5 88. 3

Cl4 £ 3B B/ 4-6 & & m il 81.4 82 81 84 82 410. 4 82.1

C15 £ 3B B 4-6 & & £y 86 90 88 90. 5 91 445.5 89. 1

C16 £ 3B B 4-6 & & i F B 93 89 93 90. 5 92 457.5 91.5 2
C17 £y 3B R/ 4-6 & 5 m A& Z 84 85 81 86 82 418.0 83. 6




2016 3y ~ & § # = £ o 4B 4A 5B 6A = ¥ %

F 5L 7P few| g *F 1 TE2 | +% 3 R4 % 5 B Tk i 2, %
C18 ) BRY & 5515“%‘] 82 80 80 84 80 406 81.2 3
C19 £ ¥ BRI & ¥ e 90 89 84 92 90 441 38. 2 |
C20 ) ABRY & M 84 89 81 89 86 421 84. 2 2
C21 ) AR | #rre Ririx 93 92 89 90 90 454 90. 8 |
C22 S AR | #rre % 3T 88 90 86 90. 5 89 443. 5 88. 7 2
C23 S AR | #rre Z W 90 92 83 87 87 439 87.8 3
C24 ) oB & ¢ i F z‘;zaj 86 86 82 89 88 431 86. 2 1
C25 £ ¥ oB & ¢ Bl T 39 89 80 83 33 416 83. 2 2
C26 £y 6A * & § &5 ERRE S 38 90 90 92.5 91 451. 5 90. 3 3
C27 £y 6A < & § #rrle &= 90 89 91 93 94 457 91.4 2
C28 £ ¥ 6A * & § ®r1te Fo A% 87 87 80 87 86 427 85. 4

C29 £ ¥ 6A * & § %11t ¥ 91.5 92 89 95 94. 5 462 92.4 |




2016~ F3#+F ¥ F 3B 3A 4B 5B 6B TB = 4 %
F 55 i : ALl pEARe %1 F 2 F 3 % 4 FF O X EE=E 7 =K
C30 o ] 3B R | 4-6 & &= R #a 89 83 30 87 85 420 84 |
C31 ¥ 3B R | 4-6 # &= L1 Re 83 70 30 89 87 405 81 2
C32 a8 i1 AR 4-6 & &F #3rT 7 LA 87 90 36 G 93 448. 5 89. 7 1
C33 B 4B R P & ik Ig 39 38 33 93 90 443 38. 6 |
C34 | B¥ ¢ 5B % ¢ B rES # 1 # 1 # 1 # 1 # 1 # 12 # 1 # 1
C35 o ] 6B ~ & ‘e Fltp 3= 38 90 31 94 92 445 39 |
C36 o -] TBAL¢ = pa L 90 92 89 96 94 457 91.4 1




2016 ir~ &5 %~ F M5 ¢ 20 3B 3A 4A 5B oA TA = H &

F 5L 7 P R SEaga B | EE 2 =% 3 %4 % 5 B =L /S 7 =X
C37 M E 20 B/ 1-3 # 5 f #51 TP $F 90 85 84 90 87 436 87. 2 1
C38 M F E 3B ®-] 4-6 & & & Thomas 3 & 3 3 & 3 & 3 & 3 & 3 & el
C39 1 A /] 4-6 # 5§ #31 - 4o 88 85 87 93 88.5 441.5 88. 3 1
C40 F B AR P F #rre 1 AR 89 87 89 92 88 445 89 1
C41 F E 5B % ¢ B A 92 90 90 94 92 458 91.6 1
C42 5 E DA B ¥ B #riw wp ik 88 85 90 90 87 440 88 1
C42-1 F E AL ¢ &% 1k 95 90 94 95 95 469 93.8 1




2016 &7 ~ &

#AF |8 B A4

P55 5 P o % I 2] | =32 | %3 | =% 4| %5 A T 0 g 2 %
C43 | B 2B & 1-3 & &= N 84 83 84 80 80.5 411.5 82.3 2
C44 a7 2B & 1-3 & &= & g 85 80 84 80 81.5 410.5 82.1 3
C45 | 5 2B & 1-3 &&= X it 85 85 87 85 81 423 84.6 1




2016 & ~ Z % &~ F 3B [+ £
F 5L I8 P 8% SEaga 5 1 EE2 | FE3 | TR A4 =% 5 R B A T 5 i AN
C46 a3 3B B 4-6 & & ke ke B 81 86 80 86 81 83 497 82. 8
C4'7 a3 3B B 4-6 & & ke N 82 85 80 83 70 82.5 482.5 80.4
C48 g 3B Bl 4-6 & & ke AR 82.9 89 81 ) 80 82.8 496. 3 82. 7
C49 ] B 3B F-] 4-6 & & & 5 T 84.5 86 80 89 89 84 508. 5 84. 8
C50 ] B 3B B 4-6 & & & I 89.9 87 83 89.9 88 90 523 87.2
Chl ] B 3B B 4-6 & & & B 89 88 84 88 89 89.9 523.5 87.3
CH2 ] B 3B B 4-6 & & & 2% 81.9 86 81 84 80 83. 2 495. 7 82.6
CH3 a3 3B Bl 4-6 & & ke &5 % 86 89 83 85 90 91.5 524.5 87.4 3
Ch4 a3 3B B/ 4-6 & &' FH % 83.9 82 80 83 80 84.5 493 82. 2
Cdo ] B 3B B/ 4-6 & & A2 iuE 8 89.9 89 81 89 38 92 520. 5 36. 8
CH6 ] B 3B B/ 4-6 & & EE 84.5 84 80 86 33 83.4 500. 9 83.9
Ch7 2 3B B/ 4-6 & & o 34 86 80 89 31 84.6 500. 6 33.4
CH8 2 3B B/ 4-6 & &' X FFIG 7 83.7 82 80 83 81 87 496. 7 32.8
CH9 ‘] B 3B B/ 4-6 & & tRE 4 39 84 89 89 82 92. 2 517.2 36. 2
C60 a3 3B Bl 4-6 & & e [ 85.3 85 82 87.9 86 92.5 518. 3 86. 4
C61 g 3B B 4-6 & & e v ATk 87.5 84 86 89.9 90 95 532 88. 7 2




C62 ] B 3B B/ 4-6 £ & e R ¥ 84 83 30 82 84 84.5 497. 5 82.9
C63 I EL 3B B[ 4-6 # &l 5k |RbF 83. 8 84 30 84 30 80 496. 8 82. 8
C64 ] B 3B R/ 4-6 £ & e R 80. 7 87 87 93 92 91. 8 536. 5 89.4




2016 T ~ £ 3

R 5L 7 p B %) A 5 1 =% 2 =% 3 o | ) % B Ko T 10 #ie 2 %
C65 ] B 4B R = TR 81.5 80 80 82 82 85 490. 5 81.8
C66 | B 4B ¥ ‘e T 7 18 # 7 7 7 18 7 18 7 18 7 18 3 1E
Co7 ] B 4B R = % i | 89 83 81 84 84 89.9 502.5 83. 8
C68 ] B 4B R = 53 86. 3 89 86 90 92 92 531.3 88.6 |
C69 ] B 4B R = FRER 2% 83.3 87 82 86 89 84.5 507. 8 84.6
C70 ] B 4B R = F 732 87. 1 87.9 89 89.9 87 90 522. 1 87.0 2
C71 | 5 ABR*® ‘e 5 % 3 el # 1€ 7 1E # 18 7 18 # # 1 # 18 # 8
CTr2 a0 4B B ¥ & T & 85. 8 86.5 83 89 89 88.9 518. 2 86. 4 3
CT73 ] B 4B ® ¢ e % 84. 7 86 82 86 80 86 504. 7 34. 1
Cr4 a3 4B ® ¢ e I E 86. 5 89 82 89 81 87 510.5 80. 1
C74-1 | B AB R ¥ o # & A 1 2 18 A 1 A 1 A 1 2 18 2 1 2 18 2 18




2016 %~ &5 %~ % [ %5 4A 5B 5A 6B 6A ¥4 4

BY | AP o ) i =21 | =32 | =33 | =34 | =35 | 4s FTy
C75 | 1% AW § #rre LS 3 3 3 3 2 3 3 3
C76 | 1% 5B % ¢ ke 4 A 86 80 80 70 86 402 80. 4
C1T | b BA % ¢ BkG #FLe o e i 90 80 90 86 89 435 87
C78 | % 6B+ & £ e 3 3 3 3 2 3 3 3
C79 | 1% 6B+ % & Aty 88 86 90 84 87 435 87
80 | 3% 6B+ % & et 89 90 92 89 91 451 90. 2
81 | I BA A B3 ErrE % Hfj 87 88 93 87 88 443 88. 6
82 | I BA A B3 ErrE I 92 93 95 95 95 470 94




2016 7 ~ £ 3 #~ % K35L 2B 3B 4B 5A *§ 4

F 5L 7 P ERT) 7 TEL | FTF 2 =% 3 =% 4 =% 5 B T 10 #ic
C83 L5 BRI 1-3 E&5le ELR Y 83 86 89 80 89 419 83. 8
C84 5. BBR] 4-6 £ &l = ES 86 83 88 87 87 431 86. 2
C85 5. |SBR 4-6 # 5 3+ 8 86 82 87 89 89 425 89
C86 5. |SBR 4-6 # 5 * 2 87 84 89 80 86 426 89. 2
C87 5. [4BR"® & ¥eFEHF 90 90 85 92 87 444 88. 8
C88 5. DA® Y B 1T FF TR 88 90 90 86 87 441 88. 2
C89 5. DA® Y B il BRI ES 92 91 92 89 90 454 90. 8
C90 5. DA® Y B Il B 87 89 89.5 80 89 430. 5 86. 1




2016 r = &5 #~F M55 2B 3B oA 6A =~ H &

B 5L 78 P KR Eapa EEL | =R 2 | %3 | =% 4 | TEDL | TR B T a4 K
C91 Mg 2BE/] 1-3 # %k IPE% 84 80 80 85 81 85 495 82.5
C92 LN 3B ®/] 4-6 & & ) 85 82 82 88 83 86 506 34. 3
C93 ARG 3B ®/] 4-6 & &= 2 &S 90 90 38 90 90 87 535 89. 2
C94 ARG 3B ®] 4-6 & &= 5k figf: 89 89 87 89 88 84 526 87.7
C95 HaL- 3B B/ 4-6 & & ﬁi?"\% 84 86 85 88 83 89.0 b11.5 85. 3
C96 I g 5 DA B ¥ B ®rylle & 4 88 83 90 88 89 87 525 87.9
C97 F g s 6A < & F % ki HR =R 90 90 95 92 89 89 545 90. 8




2016 &+ £ 5 # 4 F 4555 3B 4B 6A + 4 4

Fr 55 7 KRS 7 w2l | #=3%2 | =323 | #% 4 ok ! B T 10 #ie
C98 L 3B Bl 4-6 & & e AR 88 89 85 88 88 438 87.6
C99 L 3B Bl 4-6 & & e P F 86 87 86 86 89 434 86. 8
C100 [ 4B B¢ & MF F 87 88 88 90 89 442 38. 4
C101 [ 4B B ¥ & ek 88 86 90 92 90 446 89. 2
C102 [ 6A = & F % ki B R 88 89 92 90 90 445 89




2016 &r ~ &£ 5 ¥~ F 2 H5 2B 3B OA = H &

B | 0 Y wio | 1| ER2 | %3 #R4 | P35 | ar | TEak
C103 = REL BRI 1-3 & & le R 38 38 89 83 39 433 36. 6
C104 = BE BRI/ 1-3 &5l Rl 82 30 30 81 82 405 31
C105 = R 3B B/ 4-6 & & e R et 36 80 38 84 34 427 39. 4
C106 % Bl5L 3B B/ 4-6 # & e RS % 90 33 87 89 83 428 39. 6
C107 % Bl5L 3B B/ 4-6 # & e B 85 32 39 39 38 433 36. 6
C108 % BH 3B B/ 4-6 # & e T AR 87 81 36 83 89 426 80. 2
C109 % BH 3B B/ 4-6 # & e RF G 36 30 85 82 87 420 84
C110 = FEL 3B B/ 4-6 # & e B 2 % 39 36 91 90. 8 91 447, 8 89. 56
Cl11 % BH DA B ¥ B ®rllke R 2 88 89 90 38 90 441 38. 2




